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Question 1. Consider the following pseudo code for a function printList to print out a linked list.

function printList(list)

    pointer = list.head

    while pointer != nil

        print(pointer.value)

        pointer = pointer.next

    endWhile

endFunction

Modify the function so that it stops printing once a particular value has been printed.

(Brookshear and Brylow, Chapter 8.3, Questions and Exercises.)
Question 2. The table on the next page represents a tree stored in a machine’s memory. Each node of the tree consists of three cells . The first cell contains the data (a letter), the second contains a pointer to the node’s left child, and the third contains a pointer to the node’s right child. A value of 0 represents a null pointer. If the value of the root pointer is 55, draw a picture of the tree. (Brookshear and Brylow, Chapter 8, Review Problems, Question 29.)
	Address
	Contents

	40
	G

	41
	0

	42
	0

	43
	X

	44
	0

	45
	0

	46
	J

	47
	49

	48
	0

	49
	M

	50
	0

	51
	0

	52
	F

	53
	43

	54
	40

	55
	W

	56
	46

	57
	52


Question 3. A hash file is partitioned into 10 buckets. How many records must be stored in the file until it is more likely for collisions to occur than not? Assume the hash function gives no bucket priority over the others. (Adapted from Brookshear and Brylow, Chapter 9, Review Problems, Question 57.)
Question 4. Compare the implementation of a hash file to that of a two dimensional array. How are the roles of the hash function and the address polynomial similar? (Brookshear and Brylow, Chapter 9, Review Problems, Question 60.)
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